Which of the following devices
converts electrical energy into
mechanical energy?

(A} Dynamo

(B) Transformer
<)
(I} Inductor

Electric motor

64. T B wiwm anm g =@ =

ifirs wt f witafiy wom g ?
(A) FTEamT

(B) FrowR

(C) forgm vt

(D) Fea=

65. An electric bulb has a filament made | g3, T == ot feme L B
(A} Copper (A) @
(B) Iron (B) wE
(C) Lead (C) =t
(D)} Tungsten (D) Fme=m
| 66. The nucleus of an atom contains 66. oo ot i &
(A} Protons and Neutrons (A) WEE s ER
(B} Protons and Electrons (B) v i gerwem ¥rt
(C) Meutrons and Electrons © W 3t SR
(D} Only Neutrons
(D) Tk =g
| 67. Radioactivity has applications in 67. IREfEEmE .. HIwEmE
(A) Medicine (A) st
(B) Agriculture (B) =i
(C) Industry (C) =wrEm
(D) All these (D) o oo weft
|
SIPCS-037/14 -18- Set- A
Y




68. The age of the earth can be estimated

69,

70,

71.

by

({A) Uranium dating
(B} Carbon dating
(C)  Atomic clocks
(D} Biological clocks

Which of the following are Einstein's
discoveries?

(A)
(B)

Photoelectric affect and X-rays

Radioactivity and the theory of
relativity

(C) Photoelectric effect and the

theory of relativity

(D) Radioactivity and X-rays

A device used for converting a.c into
d.e is called

(A) Transformer
(B} Rectifier
(C)  Induction coil
(D) Dynamo

Radioactivity is a property of
(A) Atomic nuclei

(B} Execited electrons

(C) X-rays

(D) Ultraviolet light

68.

&9,

70.

71.

gt F1 ATy w siEE L #
T A AFAT S |

(A) Fiam 2Rm
(B) = g
(C) s =i
(D} et

Fodaswd e R awe ?
(A) wrEEsiEzs gam st X-fe

(B) IfeamfFas o fefeid =
g

(C) TRt ik fEREE
o)

(D) YEamufeam st X-Feor

et w1 2t | ufafie w0 &
I A F ... FET T

(A) TGN
(B) ferwmm
(C) T=agH wIEA

- (D) EwEE

i@, ... &R
{(A) wmmUET TieE

(B) FHfem e

(C) X-forret

(D) arFgrETIEE W™
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| 72. Cryogenic engines find applications | 72, s fom = awim ... # g
n 2
(A} Sub-marine propulsion (A) wa-wha Fe
(B) Frost free refrigerators (B) wrez-gw i
(C) Rocket technology (C) i wemeehy
(D} Superconductivity (D) R
73. Which of the following states is the | 73, = § & ov & g 7oy & =hE =7
largest production of coffee in India? AT TR A R 7
{A) Karnataka (A) wAtEm
(B) Kerala (B) et
(C) Orissa ©) st
Dy West Bmgal (D) ufmi"mw
74. The International Rice Research | 74 ey T e R
_ Institute is based in i fEm e
| {A) Australia (A) sireferm
| (B) Mexico (B) ifEmEr
(C) Migeria () mﬁﬁ'&ﬂ
75. A prokaryote is 75. TTEEREE :
(A) a single celled organism (A) TF =M AR
(B} ahard and stony fruit (B) T Fen SN e we B
| (C) an organism lacking membrane (C) = sita & =ty o forest anrs
| bound nucleus in its cells i &t =
| (D) Mone of the above (D) w0 & = ot
| 76. The Mammal that lays eggs is 76. oE TAUHI AT A T R -
{A) Kangaroo (&) TR
! (B) Duck-billed platypus (B) z=-firz wiftns
(C) Opossum (C) oo
| (D) Other (D) @
SIPCS-03Z/14 -20- Set- A
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7.

78.

79,

81

Bacteriophages

{A) A kind of soil bacteria

(B) Bacteria prowing in phases

(C) Parasitic bacteria infecting man
(D) Virus infecting bacteria

Lichen is a symbiotic association
between an alga and which one of the
following 7

(A) A bacterium
(B) Fungus
(C) Liverwort
(D) Fern

Which one of the following spices is
obtained from flower buds

(A) Clove

(B) Cumin

(C) Nutmeg

(D) Coriander

The term 'gene' for the factors
controlling heredity was coined by

{A) Gregor-Mendal
(B} Hugo de vries
(C) TH Morgan

{D) W. Johannsen

Chocolates can be bad for health
because of a high content of

(A) Cobalt
(B} Nickel
(C) Zine
(D) Lead

78.

79,

80.

81.

SrEvope -

(A) Tt % uw Tomen &1 <tany)
(B) ey =1 o # frwm
(C) et whamuy =it wgey St &
(D) Tormmyy =it fiamey =i @

HEHA UF e Wit guem s
simPmia i Sdad, @y
(A) = g

(B)

(C) foramd

(D) &

Forer & et o el & T A
um B T 7

(A) =&

(B) i

(C) wmaww

(D) wfyam

st fdaw & et & for
'S T T L. A TR
(A) m-TEe

(B) v dramin

(C) HmaAr

(D) T, WETEA

verareneens ST TEE HTAT T O TR
# Tom Hre miREmE # )

(A) wawz

(B) e

(C) ¥i=

(D) #=
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83

85,

The naturally oceurring anti-
coagulant in the human blood is
(A) Hirudin

(B) Heparin

(C} Fibrinogen

(D) Serotonin

Agronomy is a branch of Agriculture
that deals with

{A) Breeding of crop plants

(B) Principles of field management
(C) Principles and practice of crop
production

Protection of crops from
Diseases and Pests

(D)

Foot and Mouth disease occurs in
(A) Cattle

(B} Cattle and Sheep

{C) Cattle and Pigs

(D) Cattle, Sheep and Wine

Common salt is obtained from sea-
water by the process of

(A) Sublimation
(B) Ewvaporation
{C) Crystallization
(D) Filration

Washing soda is

(A) Sodium chloride

(B} Hydrated sodium carbonate
(C) Sodium bicarbonate

(D) Calcium carbonate

82

83.

85,

86.

(B) & =oaeen & fgm

(C) et IeameA & Fram 3 aem

(D) T 3t AT o |# e S
e

i AR R T ... TERE |
(A) weEryft

(B) - waylt 3 W=

(Cy wawht st gan

(D) g, ¥z ok amda
TR B WA THEE L TG
# o T wm R

(A) wiferiye

(B) aTeERToT

(C) Torczeftao

(D) fredom

M EETd

(A) wrfEEw F=mme

(B) wrEdes Witz wrate
(C) wifEam ATgmwmTEie
(D) *feymam stz
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87.

BR.

89.

o

91.

Lime water contains

{A) Sodium hydroxide
(B) Calcium hydroxide
{C) Sodium carbonate
(D) Calcium chloride

Cooking gas is a mixture of
(A)

Carbonmonoxide and carbon-
dioxide

(B) Butane and Propane

(C) Methane and Ethylene

(D) Carbondioxide and Oxygen

The term pH denotes the

{A) Temperature of solution

(B) Vapour pressure of solution
(C) Acidity or Basicity of solution
(D) lonic strength of solution

DDT is the name of a chemical that
can be used as afan

{A) Antiseptic
{B) Imsecticide
(C) “Antibiotic
(D} Fertihzer

Haemoglobin is

(A} The colouring matter of leaves

of plants

(BY The colouring matter of Blood

(C) A compound present in Milk

(D} A compound that transmits
signal to the Brain

91.

EAEE R
(A) & TrEgraTss
(B) Hfrmm grigramy
{C) wifEam wrEe
(D) *ivrm w=mEE

o= =, . .. T |

(A) umh ‘lﬁﬂ‘lﬂnfﬁ aﬁt iﬁrcf:r

TS
(B) =2 3 W=
(C) Trém o i
(D) wreda Tdaiade o siedam

pH w2 gfem Fxm # -

(A) HE T AEE

(B) i = wrede I

(C) =i =t srefram o s
(D) = &t smafes g

(A) oht 3 o § e = a
(B) v % wavd =
(C) qu# soerey difs

0] aﬂﬁwﬁﬂﬁmﬁmm
wm
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92,

93.

The surface of a lake is frozen in
severe winter, but the water at its
bottom is still liguid. What is the
reason?

(A) Ice is a bad conductor of heat

(B} Since the surface of the lake is
at the same temperature as the

" air, no heat is lost
(C) The density of water is
maximum at 4°C
MNone of the above

(D)

The Red Data Books published by the
International Union for Conservation
of nature and Natural Resources
(IUCH} contains lists of

(A) Endemic plant and animal
© species present in  the
biodiversity hotspots

{(B) Threatened plant and animal
species

92,

93,

T T | At T R € | FHE FH
wE?

(A) b, ST w1 T B |
(B) m‘[ﬁ:ﬁﬂm-gwmm. 3
AT T ATIHT T 1A U, ST

g =it e |

() CSEaTa  ETa B ¥ |

(D) ¥ A &g 7 |

eI giHaT ® wEE I #TE

e T2 e frardE (IUCN) I

M E g . 1

qet R

(A) Fa FafEue aw vuwt @ fAvwEnt
e ik soft wfd

(B) wat it i st st ) sy

(C) fufie 3ot 4 3w o= A9

(C) Protected sites for conservation freire .
of nature and natural resources & Hm % forg E&Eﬂ
in various countries &=
(D) MNone of the above (D) =8 & wiE TE
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94. Which one of the following | 94. 1942 w1 9RA B2t sieeq & P &
observations is not true about the Quit e A Fhm smErET e R 7
i 5
(R Tt s ookt movemeny | () T e s a1
{le It was a spontaneous movement (C) e U Ao widrer o |
(D) It did not attract the labour class (D) 4% W= § 4W T ®t AT
in general A T T |
95. Regular intake of fresh fruits and | 95, ofem & 7/ w0 3 7ot % Fahm
vegetables is recommended in the diet e ) wem & T R w0 T T
since they are a good source of e - e
antioxidants, How do antioxidants ; ‘:t E“;T; J "
help a person maintain health and w3y i,
raviiols: kiggesii? s R W o g ?
(A) They activate the enzymes (A) vt # fefim dwwm & R
necessary for vitamin synthesis Tl T R T Rm wE o
in the body and help avoid i & Rreeh s T
unnecessary wastage of energy
(B} They prevent excessive (B) ¥R # wrterzge, =Wl @ WA
oxidation of carbohydrates, fats T AT ST Wi T
and proteins in the body and 2o == & Frawsll g w1
help avoid unnecessary wastage AT d
of energy
(C) They neutralise free radicals (C) rftt & FuTeer & HH IO G
produced in the body during . WEE Wt Pt s d
rastaboltm (D) riie 3 et 3 el e S
(D} They activate certain genes in FHF w ¢ ol =t #mg #1
the cells of the body and help P
delay the ageing process
96. The function of heavy water in a | 96, =yfm firem 4 ¥t A= =1 oA ¢
nuclear reactor is to :
(A) Slow down the speed of (A) =g e i ot
neutrons (B) gz it nifw @t @@=
(B} Increase the speed of neutrons (C) fooeet ® 331 w01
1 the v i 2
{C) Cool down reactm: D) aak
(D) Stop the nuclear reaction ;
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%7. Under the constitution of India which | 97, wrimdRvmEdfE TS
one of the following is not a TR ?
fundamental duty?
- oA H =ie
{A) to vote in public elections (A) b 3
(B) to develop the scientific temper ) dmi i'“ Remfem =t
(D) to abide by the constitution and (D) wfaum = g W ok so%
respect its ideals TR T AT H
98. Which one of the following is not a | 08, =reafd = & dhem § = & i@
site for in situ method of conservation A i A s T
of flora? .
(A) Biosphere Reserve (A) A i s
(B) Botanical Garden (B) =i e
(C) National Park - (C) wefia urh
(D) Wildlife Sanctuary (T¥) S=Tomoit I
99. A genetically engineered form of | 99, e & anEtiTEA; A O fwfm
developed. The objective of this is SE kD
(A) To make it pest resistant (A) TSI AT9TE wa wlaias ==
{(B) To improve its taste and i ﬁ“l‘l{ !
nutritive qualities (B) e wmg 3 vifies o 9 &
(C) To make it drought resistant o
(D} To make its shelf life longer (C) ot wemsaaE T & fore
(D) Rt IO A T2 * T
100. Which one of the following sets of 1m.gnﬁmaﬁaﬁrmﬁr#ﬁqﬁnﬁﬂ
elements was primarily responsible 2
05 the wiota o e i s ks 2 & werd i He mufrs GeEn d
{A) Hydrogen, Oxygen, Sodium Lt ¥ -
(B) Carbon, Hydrogen, Nitrogen (B) » BTEGIO, I
(C) Oxygen, Calcium, Phosphorus © S, s, ‘
(D) Carbon, Hydrogen, Potassium (D) =, grighm, drefam
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INSTRUCTIONS REGARDING METHOD wFAT R st
OF ANSWERING QUESTIONS TR
F1 Black ball-point 9 %7 W %l )
(Please use Black ball-point Pen) ] ( . e
1, e e ;
1. Method of Marking Answers . =
To answer a question, please darken one SRS A 3. . . e
bubble out of the given four, in the OMR TH & A Rl e i & e
Answer Sheet against that question. Titet =i g e i)
2. Valuation Procedure ; ' & ‘

There are four allernative answers to a
question, only one of them is correct. One
mark will be awarded for each correct
answer, if more than one bubhble are

darkened for a question, it will be |
presumed that the candidate does not know
the correct answer hence, no mark shall |

be awarded,

Cancellation or Change in Answer :

It will not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen !
before marking it on OMRE Answer Sheet, |

Handing over of Answer Sheet to -

Invigilator :
() Please ensure that all entries in the
answer sheet are filled up properly i.e.

Mame., Roll No., Signatures,

Question Booklet No, etc,
{iiy CANDIDATES ARE PERMITTED TO

CARRY AWAY THE QUESTION -

BOOKLET WITH THEM AFTER THE
EAMINATION.

Care in Haniling the A Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil due to

folds or wrinkles and the impression does

not come behind the Answer Sheet.

. TE e

. Taiyie i Iwgm i oy

T T F S A I, S U U T
wl i wm e e R s s aw
ymEm R TR sa R R
it @ e wRm 3 e £ v\ w5 T
I T g & st 3d g o i R wmE

T A T A e F R e A
ST T o T =R s v T Em
TA: T A A F T W T S
T R |

(i) e 1 Fwie @+ T ghe
w0 & f I e ¥ 90 i woad
gfifat a@-am, | T, T,
wA-qfe 1 T, it fita
WA T dw-3 wt @ §)

(i) e I e w5 W
AT T/Y W W s #)

oI F1 UE FI awm qf awm w
TEurt T | 3R wed, WiER @ aeEs
THAmEITR i E s g R
e TN 36 0E HEUET § = e
BRI Tl 3 o am il 2 |
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14 Sr.No.

Scxl of Superimtendent of Examination

Clesare & Signavore af Invigilatar Rall Namber

Ta be filled in by cendidale by Ball-Point pes cnly

Serial Mo of Arawer Shent

HEN

| [] HEENEE

Signmture of Invigilamsr @ ..., T PRI S L

Hame of lavigilas

Declaration: T have read and understood the directions given below,
Signature of Candddate : ..o i1 RN

‘| Name of Candidate ;...

.. Tirme:

MNumber of Pages in Bookdet : 32

DT CI eI Ty, o)
Mo, of Questions : 100

witenfifat & forg Brin

1. {m) ok ot =3, 03, 00, coworfts & afifst d s, oA, i e &
o, 10 fiyfire s ooy F e )

(@) 78 1o S i o e - 41 il ) i P
wriam e -
(i) wegfee 7t e & v g e o ol ) R
aft it =t 3o gl o e feE S A =
(i) o e o e e < v o o T R
At i 2 | e e fen ot ot e g v
ot g it s me TR finen i S firfe i ol e
5 T A e e e vt A o s we
e =Ty
i e s & st sifie Fwe porvn o it 3 B, 3
e aimt o e s i fm v e e
aft o ot firemed o A )
i) e R et e e R = i )
sife = el Black ball-point %= @ vifte sl = vl
() ot i |5 i o e et i e o o e
1wt e it & foy i wR i f

2. (=) Biaw-wie v | S et sfr e, shndm = |

o v [y i o ) s e of) o 1l e 6 Pl 2 it
e o, o ey 2 it ] il s e o ] v v o
o i o e e e e, o s e il e
A O i % Black ball<point % 3w s waik v

() e e 2w L, e T e e o e e anfs O
oA ¥ vl v w771 Black ball- pomt T3 wmen =i

(n) Tr-wiedk g 2wk o s e me i AR m e
e 3 e o

{a) =t wffiat Black ball-point 43 # Rt a3 &)
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Wt 11t ) o) it ot v e e wdt b, s e e
eyt firem v e ol e | 2 o Pl ot ot e -t
T R A

4. -t o Eraf vl o d rfifioat el 3 o e 3 Bl

5, T o) woem, 3 St gz o Pl oft e d sy
TR U6 HiEE ol T s A b ’

5, T T T - R 5 T T i v e e e e
m P =Tt s, e sy S

7. =, wm. s, vl 3 e v Al B e wedin B
o, T, o, W e e e sl fime o) A |

(3 aifien w0t ¥ Tim o e it & o wem o o fity o i i)
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INSTRUCTIONS TO CANDIDATES
1. {a) Camdidates are allowed 10 minates 1o fllup the basic
imformation about themselves in the OME answer sheet such
as Mame, Roll Mo, cte.
(bh Alter thas, muesdion bookl# will be given to the candidates
thiey are requined ta de the fallowing:

(i} Examine the bodklet and fo soe that 21l paper seals at the
edge of the booklet ane intact Do ool accept the question
boaklet il sticker seals ane pot intact.

Tably the number of pages alangwith no. of questioms
erimtedd cn cover of the bookler. In cise of any discrepancy

gel the booklet changed. This should be done
within 5 minuies of receiving the goestion booklet, after
which neither the question booklet will be replaced nor
will exfra time be grven, ]

{1} Check that guestion booklet conizins the questions of all
relevant su ics as required and sated in the MNote
and no repetition of omithon of questions is evident.

{iv) Afver examining the question bookler please emtes the

i thee guestion booklet at the ﬂlﬂlm placs
in the answer sheet and the corresponding circles be
darkened with Black ball-point pen

(e} Candidates are pot permitied to mark answers in the Answer

Sheet inthese 15 minutes, TWO Hlours mare will be given

far marking &ll the answers,

(iz)

2. {a) Onpage | of Answer Sheet in upper half portion, write Name
of Exam, Mame of Exam Centre and Dite of Exam, Put your
signatures ales. On the lower half portian of this page fll in
the bomes O3 of the first lime in capiial betters, your
surmame and name {jn.l':'n,g 1sh). Wite oms letler in eack box
O Below each betwer darken with Black ball-poist pen the
carele O bearing same lener.

(b} On page 2 of Answer Sheet fill in your Roll No., Set Code,
Sr. Mo al Question Booklet ﬂng writing in the Cand below
i by darkening correspoading L2

(e} Onpage 2 of Answer Sheet only the answers to gquestions are
i be marked, The instnections for this &g awailable on the
hack cover page of this question hooklet,

(d} All emtries to be made by Black ball-point pem.

3, D];ltil;nl Muark Reader (OME) machine prepares the result |:|_-,|
reading the entries made in the cincles O with the Black ball-point
pen on page 1 and I of the Answer Shest, hence the candidate
st he extremely carcful in marking these entrics and maust nol
COMMiL ETors,

4, Please do not wrile anything extra except what is asked for.

5. Use of any Calculatos, Mohil: Phones or any other Electronic
Gadgets and Log Tables etc., is Strictly Prohibited.

6. Rough work should be done on the blank pages provided after
each Section or Subject. Bxira paper will not be supplied.

T, Llse of Whitener in the O.M_B. answer sheel is nat allowed. In
ez if it 75 used, UFM case will be registered and candidatune will
Ibe cancelled.

i
{For instructions regardifel maridng the answers please see the back cover page of this Question Booklet)
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Note
1. This question booklet containg 100 qmstind'stmmhemd from 1 to 100 and each question carry
1 mark. All questions are compulsory. Tl'u:rj&: is no negative marking.

2. Tally the number of pages alongwith no, -::{ questions printed on cover page of the booklet.
Also check that question booklet contains lhequemuns of all relevant subjects/topics, as required
and stated above and no repetition or nmmxinﬂfqummns is evident.

3. If any discrepancy is found in the Questioh booklet the same can be replaced with another
correct guestion booklet within first 15 min

. 4. Before answering the questions please read Earefully the instructions printed on the back cover
page of the question booklet and strictly f¢llow them. Indicate your answers by blacking
bubbles carefully only on the O.M.R, Amwer Sheet provided.

| 5. Useof any type of calculator, mobile p]wnt: or any other electronic equipment and log able
ete, is strictly prohibited. t ;

W
I TEIR TR F 100 999 FF 1 H 100 7% § w6 00E 9 0 o7 = B oft w wbed
&1 =1 smoens yriwA w6 .
2. W g o TE A el o e e g e A v demed & == A oy d ve-
e # wvit wafim fowm /s S o st B mn R, % v wf@fem @ @ ww g sitea
At 2w v o A e R anf A i e ww @ W)

3. mgﬁmﬁ%mﬂaﬁuﬁmﬁ&aﬁm 15 iz § wee adt ve-gfem &
W |

| 4. mﬁmmﬂaﬂaﬁmgﬁmtaﬁt‘qﬂmaﬁmﬁﬁﬁﬂmﬂﬁémm
' ® urem F ) vl % I A o w TR IoiE A arEeEEE TE e o d
sHfwa =ifam

5. ﬁﬁﬂtﬁmmﬂm@a,mqﬁﬂmﬁaﬁﬁm% 7 T 9 UH i e
SfE &1 v Fen ot B :’
i
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i
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General Knowledge
(Q. No. 01 to 100)

Mira iz a

{A) Supercomputer

(B} Robot

(C} Classical dance of Rajasthan
(D) Spacecraft

The Indus valley people were not
familiar with

(A) Copper

(B) Silver

(C) Tin

(D) Iron

Who were the Mughals?
(A) Afghans

(B} Arabs

{C) Mongols

(D) Chaghtai turks

The Rama Krishna Mission was
founded by

(A) Dayananda Saraswati
(B) Vivekananda

(C) Keshab Chandra
(D) Han's Raj

What is the most significant feamre
of the Indus valley civilization?

(A) Bumt Brick buildings
(B) First true arches

(C) Buildings of worship
(D) Ant and architecture

HHTE A
(3. %. 01 & 100)

e -

(A) H TP ¥

(B) Tmrz?

(C) T =1 Wiepios I
(D) =g &

Ty wrt mrvaren w1 wd Al waron

= ?

(A) =R A = gum
(B) WuwW TWE A
(C) o

(D) hen #H SEgwen
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Buddha's preachings were mainly
related to

i(A) Belief in one God

(B) Practice of rituals

{C) Purity of thought and conduct
(D) Ideal worship

Guru Manak preached :
(A} The Brotherhood of man

(B) About making sikhs a militant
organization

(C) Sikhism as a religion

(D) The unity of sikhs

The remains of the Vijayanagar
empire can be found in

(A) Bijapur
{(B) Golconda
(C) Hampi
(D) Baroda

The famous court poet of Akbar was
(A) Birbal

(B) Tulsidas

(C)} Bairam Khan

(D) Rahim

6. TEHITEAFAEUSAEAA ...

Hoeam |

(A) T & WA d wiwe
(B) Tl =T UTe

(C) Frem 3 smam & g
(D} eyt gam

T AT T IILT o -
(A) wget & vmfem

(B) frat =71 v andwaTd! Ged
ECic

(C) Terenma =1 v wd ==
(D) Tt & vt

AT s amys LB
Lk oh 8

(A) Femg
(B) TiesoaET
(C) wwdft

(D) =i

Wt & Tan # gty Wi -
(A) Tame

(B) gererETs

(C) & =

(D) v
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10.

11,

12

13,

Raja Rammohan Roy was not
connected with

(A) The abolition of Sati

(B) Widow remarriage

(C) The Promotion of English
(D) Sanskrit education

Who was the president of the Indian
Mational Congress when India
became free?

{A) Mahatma Gandhi
(B} Jawaharlal Nehru
(C) I.B. Kriplani
(D) Sardar Patel

The first Satyagraha campaign of
(Gandhiji was started at :

(4) Champaran
{B) Bardoli
(C) Dandi
(D) Baroda

Who gave Vallabh Bhai Patel the title
of Sardar?

(A} C. Rajagopalachari
(B) M.K. Gandhi

() JL. Nehm

(B} M.A. Jinnah

10, T W WS 09 ..., O HEEW

11.

12.

i3.

T |

(A) Tt T

(B) Tawan qa:famme
(C) =t dremmes
(D) wega Than

WA 6 TEAA F TN qRAE T
e & ey w8 7

(A) wETeT T
(B) WETEETH TEE
(C) . =t FwE
(D) TER T

T T T I TR
F smist e am

(A) =URA
(B) =HEret
(C) =i
(D) ==t

AW WL T2 I TEN w3y e
& 7

(A) €t TremiTETT
(B) WA. . it
(C) & 7w THw
(D) uw. . Frn

SIPCS-03Z2/14
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14. One Astronomical unit is the average | 14. U wiela T4, ......... % o= @
| distance between s sy
(A) Earth and the sun (A) geddt i wd
(B} Earth and the moon (B) gt sl ==
(C) Jupiter and the sun (C) T sirgd
(D) Mars and the sun (D) v o
15. The velocity of winds is governed by | 15. wa= & 97 =0 sfaaw=s ©
"~ (A) Pressure gradient (A) =T Ev
(B} Farrel's law (B) e T
(C)} Rotation of the earth (C) gedt =1 qoiv
(D) Temperature (D) AToET
16. Which one of the followingis a great | 16, fra @ Sm s gragad ?
circle?
' A) -
| {A) Tropic of cancer &)
| {B) Tropic of capricon ) Wet=en
(C) Equator (C) spuea v
(D) Arctic circle (D) I g gw
17. What is a cyclone? 17. SFaa g 7
(A) A low pressure system with e -
clockwise winds in the Northern (a) swt " i
| hﬁl‘l‘tiﬁphcfc =harmad T
| (B) A high pressure system with (B) wil 7iremd § Ie=ETM 7 & Wiy
anticlockwise winds in the TroTad T
| MNorthern hemisphere
| (C} A low pressure system with (C) Fwli v & steusTa 74 & a
anticlockwise winds in the HqATER T
. - Northern hemisphere
(D) A high pressure system with @) 3w # B
clockwise winds in the Northern =feromed v
hemisphere
|
SIPCS-037/14 -6- Set- A




18.

19.

21.

Snowfall occurs when

(A} Water droplets freeze as they
fall to the ground

(B} Rain drops are carried up by

updroughts in air
(C) Dew points of air is below
freezing point

(D) Airis highly moist and rises due

o comvection

What is measured by the sling
Psychrometer?

i(A) Temperature
(B) Humidity

(C) Pressure

(D) Wind velocity

Hail consists of

(A) Granular ice
(B) Crystals of ice
(C) Water droplets

(D) Masses of ice with concentric
layers

Which region is most famous for
citrus fruits?

{A) Deserts
(B) Monsoon regions
(C) Temperate grasslands

(I} Mediterranean regions

| 18.

19.

20.

21.

Tirrara wrem & o= .

(A) urt $t 98 it o few f wm
et #

(B) =i =t 92 7rg § aggiz & wEm
T TE R |

(C) =g =t siveies fwies & g
L4

(D) =g § sftrrear Tt gt § 3k
TR & WO IW ISR |

M asrdm S mr oA § 7
(A) wOaE

(B) s

(C) ==

(D) T am

[N

wr H g d

(A) wiiwmg o6

(B) Tomem ok

(©) weh

(D) ok & wedt HE=k T A

e wet o o @ R g 7
{A) WETHH

(B) wrAEd &

(C) vfrarem rere

(D) e g

SIPCS-03Z/14 -7-




22,

25.

Which country is the leading
producer of Uraniom?

(A) Canada
(B} Russia

(Cy France

(D India

Which country is known as the sugar
bowl of the world?

(A) India
(B) Cuba
(C) Russia
(D) USA

Trees shed their leaves in winter !

season to
(A) Conserve heat

(B} Take rest after the summer
growth

(C) Conserve water

(I¥) Escape being eaten by animals

Which one of the following is the
smallest state of India?

(A) MNagaland
(B} Tripura
(C) Sikkim
(D} Megalaya

22. g Tearee @ Rva =51 amoft 3w

w7
(A)
(B) *=

(C) wm=

(D) WA

. Tova & e e = v w= AT

%2

(A) W
(B) wram
(C) #+=
(D) guAd

. it g W i A o e 3

(A) Fam H=g

(B) ey =g freme & o= e &
fom

(C) = O
(D) wmital g = § = & R

. Fra @ @ = o = e v

TR

(A) wTTRUE
(B) Trga
(C) fowfrm
(D) v

#
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29,

30,

Which is an area of Tropical ever
green forests?

{A) The Western ghats

(B} The Eastern ghats

(C) The Western Himalayas
(D) Madhya Pradesh

Why are plants grown along river
banks?

(A} To prevent floods

(B} To provide shade

(C} To reduce silting and erosion
(D) To control pollution

Where is the Bandipur National Park?
(A) Rajasthan

(B) Andhra Pradesh

(C} Assam

(D) Karnataka

-Kaziranga wildlife reserve is in

(A) Uttar Pradesh
{B) Tamil Madu
{C) Assam

(D) Kerala,

Which crop requires water-logging
for its cultivation?

{A) Tea
{B) Coffee
(C) Rice
(D} Mustard

27.

29,

i @ v wim = w w
B ?

(A) afinft ot

(B) e wr

(C) ufit T

(D) wey wdw

Y % we ur U et T WA 7
(A) =ma =T i & fom

(B) orE i fom

(C) Towdin sih srowem = e & fom
(D) g foreieror & e

HE Sy o wel Rem @ 7
(A) Trereem

(B) sty wawt

(C) smm

(D) wHfe®w

SIPCS-03Z/14
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31

32

|33,

35,

On which river is the Nagarjunasagar

project located?
(A) Krishna
(B} Godavari
(C) Cauvery
(D} Tapi

Kothagudem thermal power project is
located in

{(A) Bihar

{B} West Bengal
{C) Andhra Pradesh
(D) Madhya Pradesh

Where is Kalpakkam?
(A) Utar Pradesh
(B) Maharashira
{C) Gujarat

(D) Tamil Nadu

In which state is silent valley located
{A) Tamil Nadu

{(B) Kerala

(C) Assam

(D) Arunachal Pradesh

Who prepares the topographical maps
of India?

(A) Geological survey of India
(B)
(C)
(D) Geographical survey of India

Survey of India
Defence Ministry

32.

33

e e Fm T R fEm R 2
(A) wfeerng

(B) &

(C) |

(D) FEUTEA

. WA # witeutrs wiafs =t

wAAER 7

(A) wrdta i e
(B) @A 3w s

(C) Tam HaTeE

(D) Wt Wiiiee waam

SIPCS-03Z/14
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36. The Satellite launching centre of | 36, FFEga wa fod switsye =0 Tomy
Indian space Research organization 1 A ... A
is in
{A) Thiruvananthapuram (A) T
(B) Bangalore (B) #En
(C) Thumba (© =
(D) Sriharikota (D) siefrsrer
37. How many PIN zones has India been | 37, wrm & e fim Rt i sl 87
divided into
@) 5 (A) 5
®) 6 ®) e
) 7 <y 7
(D) 8 (D) 8
38. Monoculture is a typical | 38, umura FH, ........... T wF R
characteristic of : et 3
{A) Shifting cultivation (A) mw
(B} Subsitence farming (B) i @
(C) Specialized horticulture
. (C) Tafire sem &+t
(D) Commercial grain farming
(D) =rfirsn a=rs wet
39. Who acted as the chairman of the :| 39, #frwm war #0 grefen whied o
Drafting committee of the Constituent : aaatE =g wiT & 7
Assembly?
(A) =T, 3N, 3rEEE
(A) B.R. Ambedkar
(B) C. Rajagopalachari ®) M. TR
(C) Rajendra Prasad (C) T ST
(D) Jawaharlal Nehm (D) TETETETS THE
SIPCS-03Z/14 -11- Set- A
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|¢ll]. The Election commission is
| responsible for the conduct of
| Elections to

| (A) The Parliament

(B) State legislatures

(C) The offices of President and
Vice-president

(D} All the above

[41. The International year of Biodiversity
©was

(A) 2006
(B) 2010
(C) 1996
(D) 1999

|-12. Which of the following affects

40. AT IEEE & deEy # Y e
coveess T TEATEER B 1

(A) wwE

(B) w=a Framwee

(C) Temfa 3 Iu-Tremfa watea
(D) Im R ad”

41, = FafEum = e ad L.
(A) 2006
(B} 2010
(C) 1‘.;96
(D) 1999

42, = FiEvm w fe= o rewm g

Biodiversity gz ?
| (A) Environmental Pollution. (A) wateo wgEm
| (B) Dc:enn acidification (B) =z anelieto
| (C) Climate change (C) e # TEem
| (D) Allof the above (D) T fu e wh
|
|d3. Carotene is found in 43, wHA ... HuEm AR
| () Lemon ) fig
| (B) Carrot (B) 7
| (C) Radish (C) weft
| (D) Turnip (D) werwm
|
!
| SIPCS-03Z/14 -12- Set- A
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47.

The sweet taste of fruits is due to
(A) Maltose

(B) Ribose

(C) Lactose

(D) Fructose

Gall bladder stones are deposits of
(A) Calcium

(B} Phosphorus

(C) Glucose

(D Cholesterol

ATP stands for

(A) Adenosine triphosphate
(B) Alanine triphosphate
(C) Adrenalin triphosphate
(D) Asparagine triphosphate

Forest fires are natural sources of
{A) Carbon monoxide

{B} Hydrocarbons

{C) Hydrogen sulphide

(D) Nitrogen dioxide

Which of the following contributes the
maximum to the greenhouse effect?

(A) Carbon dioxide
(B} Water vapour
{C) Methane

(D} Nitrous oxide

45.

46.

47.

wet  HiET T W
(A) wTEER
(B) TrEata
(C) v
(D) warw

e R L. F A |
(A) FFmam

(B) WIAERH

(C) =

(D) wieTeETer

ATP =1 qui ®9 :

(A) ufRAMETEA FEwERE
(B) UFFTER FEETERS

(C) wdATeta TEwEse
(D) weif= grwiere

TEEHA ........ FIUGAREEEE |
(A) FHEA AEEETES

(B) wrgrerda

(C) wHFT AFEEE

(D) ATZr STFaTTEE

sty wara & fom e & @ feaam
armEm s § 7

(A) wTEa ETSrEETEE

(B) W = TeT

(C) T

(D) T3gH HiaEs

SIPCS-037Z/14
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49. The weight of a body is 49. =i uw :
i)  Same everywhere on the surface i) gt S TE W W O B
of the Earth %
i)  Maximum at the Poles i) yaw iR Y |
iii) Maximum at the equator i) e o e arfirsEn m a
iv) Less on the hills than in the : S g & S
plains 9 ™ R
Which of the above statements isfare Tt 2w e sl 4 & s
correct? R
(A) (i) enly (A) Tk (i)
(B) (i) and (iv) (B) (i) 3 (iv)
(C) (i) and (iv) (C) (iii) 2 (iv)
(D) None () u= o =t
50. A person weighs more in a lift, which | g9, W 1 w feree @ arfte g 3 -
is
{A) Moving up with a constant (A) ot i & o w1 T 2
velocity
(B) Moving down with a constant (B) A s
velocity
C Eﬁiﬂ'ﬁ" =
(C)y Accelerating upward ©
(D) Accelerating downward (D) vl =
51 One finds it more difficult to walk on | 51, =Rz {re % gaem @ waewT =
ice than on a concrete road because i wrem & =it
{A) Ice is soft and spongy where as (A) =E T aih it et sl
concrete 15 hard FTFTE w30 A d
{(B) The friction between the ice and (B) uis i & & 19 &7 o,
the feet is less than that between FTEE T
the concrete and the feat frd i L
(C) There is more friction on ice
than on concrete © mﬁggmﬂﬁﬂﬁﬂ
(D) Nm of these (D) w8 & wrE oy e
SIPCS-03Z/14 -14- Set- A




52,

53

35,

A sheet of paper can be pulled out
guickly from under a glass of water
without spilling the water. This
phenomenon illustrates

(A) Lack of friction between paper
and glass

(B) Newton's third law of motion
(C) Inertia
(D)  Acceleration

Conservation of energy means that

{A) Energy can be created as well as
destroyed

Energy can be created but not
destroyed

Energy cannot be created but
can be destroyed

Energy can neither be created
nor destroyed

(B)
(©

(D)

A person climbing a hill bends
forward in order to

{A) Avoid slipping
(B) Increase speed
{C) Reduce fatigue
(D) Increase stability

Atmospheric pressure is measured
with a

{A) Hydrometer
(B) Barometer
{C) Hygrometer
(D) Altimeter

52wt @ W T & A @ Aw e,

55

ol weeT R st @ wfter
wem } |y wen wAr R -

(A) a3t Tere 3 e oo i =t
(B) === nfa = wan faw
(C) ==

(D) ==

Tt g = e & -

(A) == &1 I9TeA 9 A= R o
AT

(B) Fwif =7 Zeavaq fa =1 wae #
o T A8 Femam = '

(C) F=t = IrgvEA T T = m
mEFnmeEni

(D) =i w7 7 IeareA, A =
W AT 8

UETE U1 AT HATSHT AT A TE T
Bl TRHOT

(A) Traem & et & o
(B) W wert & forn

(C) e wert & fom
(D) e =ar & fom

el =" w1 ..., H ETOT A
T

(A) Wyt
(B) ey

(©) e
(D) srwdnfier
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58.

59,

Raindrops are spherical due to
(A) Viscosity of water

{B) Surface tension

(C) Continuous evaporation

(D} Air friction

A foot ball bounces when it falls on
the ground because

(A} Tt is made up of Rubber
(B It is hollow

(Cy It is very light and is able to
overcome the resistance of air

(D) Of its property of elasticity

A thermostat is a device for

(A} Switching off an electrical
appliance

(B) Measuring temperature
(C) Regulating temperature
(DY Producing Heat

The layer of the atmosphere which
reflects the radiowsves back to the
earth is called :

(A) Stratosphere
(B) Tropopause
(C) . lonosphere
(D} Troposphere

56.

59.

i -farg TieTER € T
(A) e Fa

(B) y=-wa

(C) wwm aTefrEor

(D) =Wy wm

et w1 fireet gewte & Iweed &
TR :

(A) TETmR AT
(B) =@}

(C) = worm & i =g oficg =t
R T

(D) 37Ot UEYTETET T[0T 3 FE

auireE |E........ B0 Y |

(A) Torga suw =t feaw-aTE w1
= oy

®) ATTAT & AT ¥ firg

(C) armmA Frae & T

(D) e 3w & forg

ATATEAO HT FE UTA W FEAT W F L
T T T e

(A) wAfewm
(B) grdrata

(C) ImaeET
(D) Zrrferm
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60.

61.

62.

63,

A lunar eclipse oceurs when

(A) The sun, the moon and the earth
are not in the same line

The moon comes between the
sun and the earth

(B)

(C)
sun and the moon

The sun comes between the
earth and the moon

(D)

The sky appears blue because
(A) It is actually blue

(B} The Atmosphere scatters blue
colours more than the others

(C) All colours interfere to produce
blue

(D) In white light the blue
component dominates

Bats can fly in the dark because
{A) They have better vision in the
dark

(B} The pupils of their eyes are very
big

(C) They are guided by ultrasonic °

waves produced by them
{D} None of the above

A device used for measuring the
depth of the sea is called

(A) Altimeter

(B) Fathometer
(C) Hydrometer
(D) Manometer

The earth comes between the

61.

62.

HE-TH0 B T HWT

(A) w= ¥, % 3R gt uw Yon i
Ll

(B) & i geft & o = o @
(C) wd iR oz & e gesft s &
(D) gedtsindg s dagd and |

3Ty Sten fes = wnm

(A) =veam A fen @

(B) at= Tt & & T = wrerewor #
st Rrdom &

et it & foaem | e ==
|

A WERTen A fren T @ anfide
TR

(8

D)

S wrafadt 333 w1 W -
(A) @ith % gwefit 3R e et &

(B) sitet &t gafern w=rft =t Bt
11

(C) % g TeaTiem SrwTRiT w
e we R

D) Fﬂﬂﬂﬁf?ﬂl

W o TS we o fere I ane
(A) st
(B) Wrursdie

(C) wrEgm=
(D) Bt
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